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TU PENSARE

IO PENSARE

TU NUOTARE
TU PORTARE
LEI ABITARE
NOI TORNARE
IO GUARDARE
TU ARRIVARE
TU CUCINARE
IO ARRIVARE
NOI PENSARE
LEI CUCINARE
NOI LAVORARE
VOI LAVORARE
LORO PORTARE
LEI ARRIVARE
LORO ARRIVARE
TU COMINCIARE
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IO NUOTARE

IO ABITARE

IO MANDARE

TU TORNARE
NOI ABITARE

TU IMPARARE

10 IMPARARE

LEI PENSARE

LEI NUOTARE

IO CUCINARE

TU LAVORARE
VOI CUCINARE
TU CAMMINARE
TU ASPETTARE
VOI IMPARARE
LEI GUARDARE
LORO LAVORARE
NOI COMINCIARE
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IO PORTARE

TU MANDARE
TU ABITARE

IO TORNARE

IO LAVORARE
LEI TORNARE
VOI PENSARE
LEI PORTARE
LEI MANDARE
VOI NUOTARE
VOI MANDARE
LORO TORNARE
LORO ABITARE
LEI IMPARARE
LEI LAVORARE
LORO GUARDARE
LEI ASPETTARE
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